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X+y—z = 8
2Xx—y+2z = -3

S5x+3y+3z = 6
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510 Cramer’s Rule
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3A +2A0+(-1) Ap ATzelasuadfi i

4 =2 —2
3(_1)1¢l +2(_1)l+2
1 1
5 4
+H=D (=D
1
34+2)-2(5+2)—-1(5-4)
18-14-1
3 e )
4 2 -1 '
7 4 =2

4~ ™!

2 -1
+3(-1)*!
4 -2

4(4+2)-72+ 1) +3(—4+4)

24-21+0

3 eenene(2)
3 4 -1
5 7 -2
1 3 1

4A12+7Az +3A5 mrnelagaosuif 2

229



-2 -1
= A-n +7(— 1)
1 1
-1
+3(= 1)
5 -2
= —4(5+2)+73+1)=3(-6+5)
= -28+28+3
e 3)
3 2
1ﬁ'X3‘= 5 47
1 1 3
| X3 | = 4Au+7A0+3A5 nyzwlennaduif 3
4 2
= 4-p? +7(= 1)
11
+3(— 1
5 4
= 45-4-7(3-2)+3(12~10)
= 4-7+6
=3 @)
wizasiy
L Ix
| A |
= % CRINFUMT (1) UAE (2)

230 . ' MA 104



B

y = ==
| A
- .g. PAFUNT (1) Uas (3)
= 1
, = I1Xs]
| A |
_ %. NNRUNTT (1) WRE (@)

IWTsasdu x = 1

4 (v
upudnvia s.10

RAFUNI LAY Gramer’s rule

1.

4.

5.

2Xx—y =

)
»
|

L¥¥)
-
]

>

+
e

I

X+2y =
Ix+y =
X+2z =
Ix-y =

X+2y+z

MA 104

Il
'

Aoy

231



It
=38

6. 4x; + 5x2
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—6X2+ X3
3x;+4x2 = 3

7. 33X —2%—%X3 = 2

— X2+ X3 = -1
3x1—5x%3 =13
8. xy+v-+x3 =0
2. 2+3x3 =0
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